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<M1 >
IR ESGER 7S o KBEA&FT | BUS | % | M .
A) A e A we |we | ¢ |
IR 3 3 3 9 2 10.82 1
(A) 7 6 6 19 4 10.83
SRS 1 3 3 7 6 |0.54 5
A) 2 7 7 16 | 14 | 0.53
N 0 2 2 4 9 |0.31
Rl 0 4 5 9 | 20 |os1| 4
KRR 1 1 3 5 8 |0.38 3
(A) 2 3 7 12 | 18 |0.40
<M2 >
MFR&D Ty —7 | SHEEEAR ‘ HEFRREE | Bg | Bk | M .
a2 NEAT
(A) (A) (A) (A) M/G | M/G | G
TFR&D 0 0 3 0 3 11 |0.21 5
A) 0% 0 6 0 6 22 10.21
S — 3 0 2 3 8 7 10.53 3
A) 6 0 4 6 16 | 14 |0.53
B DN 3 3 3 3 12 2 |0.86 1
(A) 6 6 7 6 25 5 |0.83
ey 2 3 1 3 9 10 | 0.47 9
4 6 2 7 19 | 22 |0.46
P e UK 3 1 1 2 7 9 |0.44 A
A) 6 2 3 5 16 | 19 |0.46
<M3—A>
NG S Rl KAAERL | B& | 5 | M N
(B) (A) HU3E(A) M/G | M/G | G B
KPR 3 3 6 2 |0.75 )
(B) 7 7 14 4 10.78
ERfs 1 3 4 4 | 0.50 5
(A) 2 6 8 9 | 0.47
KAALER 1 1 2 6 | 025 5
U (A) 2 2 4 13 | 0.24
<M3—B>
- T AT T A I A At s | #Hk | M .
BRI A) (A) we |we | ¢ |
- 3 3 6 2 1075
BRI 7 6 13 5 | 0.72 1
T AT T A 1 3 4 4 0.50 9
A) 2 7 9 11 | 0.45
I A filit 1 1 2 6 | 025 5
(A) 3 4 7 13 | 0.35
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AoV | SRHEROR | B | Bk | M
L K B g
o il ) B) MG | MG | G fi
e 3 3 3 9 1090 |
6 6 6 18 2 |0.90
0 0 0 0 9 |0.00
K AR
i 0% 0% 0% 0 18 | 0.00
PN 1 3 3 7 4 064 ]
(A) 2 6 7 15 | 10 | 0.60
= PEREHR R 0 3 1 4 6 040 |
(B) 0 6 4 10 13 | 0.43
<M4—B>
KB HOREE | B | Bk | M
AT N A g
©) fekerh iz A) MG | MG | G fi
B S 3 3 3 9 0 [ 100]| |
(©) 6 6 6 18 1 0.95
0 1 3 4 6 | 0.40
AT
A 0 4 6 10 | 12 |oas|
0 3 3 6 4 |0.60
KB HASE R 2
PriZm 1 6 6 13 | 10 | 057
3 0 0 0 0 9 [000[
A) 0% 0% 0% 0 18 | 0.00
<M5—A>
LT 3 Kb | BE | E%k | M
A STk JE
A) SRR ) we | me | @ fi
)L T3 9 3 6 033
A) 6 9 13 | 0.41
o 3 1 4 4 |050
RS 6 3 9 9 |o0s50| 2
N 3 3 6 3 067 |
(A) 7 13 9 | 059
<M5—B>
e | wesr | keAmx | wE Ak M|
(B) (B) ww(B) | M/G | M/IG | G |
WA E 3 3 6 0 | 100| |
(B) 6 6 12 2 |0.86
1 7 e U 0 3 3 5 [038]
(B) 1 8 9 10 | 0.47
K HAER 0 2 2 6 |05
#3(B) 1 4 5 14 | 0.26
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BA b— ! X —7 KAAER | KRW&EF | Big | #% | M .
N R AR o [[=¥iva
vy A (B) HIK(C) (©) M/G | M/G| G
FA h— 2 1 3 2 8 11 | 0.42 A
A 4 3 6 4 17 | 25 |0.40
3 3 2 3 11 6 |0.65
i 7 6 5 6 24 | 16 |0.60 1
X — 3 0 2 2 7 10 | 0.41 .
(B) 6 2 5 5 18 | 21 |0.46
KAAfLER 2 3 3 3 11 8 |0.58 9
1H(C) 6 7 6 6 25 | 19 | 0.57
PN 3 1 3 8 10 | 0.44 3
(© 6 3 6 18 | 21 |0.46
<M7—A>
KB BE T MTFR&D O. F. K s | #Ek M i
(B) (©) A) MG | M/G | G
PNIT 3 3 3 9 3 10.75 )
(B) 6 7 6 19 7 |0.73
BFET 2 3 3 8 3 10.73 5
4 6 6 16 7 |0.70
AFR&D 1 0 3 4 6 | 0.40 5
(©) 3 0 6 9 14 | 0.39
0. F. K 0 0 0 0 9 |0.00 4
A) 0 1 1 2 18 | 0.10
<M7—B>
H A fih FR&D Ry s | Bk M iz
(B) B) MG | M/G | G
I A Al 3 3 6 2 |0.75 )
(B) 6 6 12 4 1|0.75
AFR&D 2 3 5 4 | 0.56 5
(B) 4 6 10 8 | 0.56
g 0 1 1 6 | 0.14 5
0 2 2 12 | 0.14
<M8—A>
0. C. T |#IHb¥I¥ g | #%k | M .
NSBC JEA
(A) (B) M/G | M/G | G
0. C. T 3 3 6 2 10.75 )
A) 6 7 13 4 |0.76
FILFET ¥ 0 3 3 4 |0.43 5
(B) 0 6 6 10 | 0.38
NSBC 2 1 3 6 | 0.33 5
4 4 8 13 | 0.38
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JIEAE
(B) (B) (B) M/G | M/G | G
T AT A 3 3 6 4 | 0.60 )
(B) 6 7 13 8 | 0.62
0. F. K 2 2 4 6 | 0.40 5
(B) 4 5 9 13 | 0.41
B PN 2 3 5 5 | 0.50 5
(B) 4 7 11 12 | 0.48
<M9—A>
SREEMOROR | KRR X —F O. K. B | W& | % | M -
(C) (B) (©) (B) MG | M/G | G .
R DN 3 3 3 9 4 |0.69 )
(©) 7 7 6 20 9 |0.69
PN SES 1 0 3 4 8 10.33 5
(B) 2 0 6 8 17 | 0.32
Ty —7 2 3 3 8 3 10.73 9
(© 4 6 6 16 7 |0.70
O. K. B 1 2 0 3 9 |0.25 4
(B) 3 4 0 7 18 | 0.28
<M9—B>
P FBE | TR | Lo ] A B g | 8% | M -
(©) AHB(B) Ty — Tt AT MG | M/G | G B
HE TP U 0 1 3 4 6 | 0.40 5
(©) 1 2 6 9 13 | 0.41
TA R AR PE 3 1 3 7 3 10.70 5
AR (B) 6 2 6 14 8 | 0.64
R (eriin 3 3 3 9 3 10.75 )
Ty H— 7 6 6 19 6 | 0.76
TP 5 BF 0 0 1 1 9 |0.10 4
T T 0 1 2 3 18 | 0.14
<M10>
IR 0. C. T R ERA: g | 8% | M -
(B) (B) (B) MG | M/G | G
IR 3 2 3 8 4 | 0.67 5
(B) 6 6 6 18 8 | 0.69
0. C. T 0 1 3 4 8 10.33 5
(B) 0 2 6 8 18 | 0.31
R, 3 3 3 9 4 |0.69 )
6 7 6 19 10 | 0.66
ERAL 1 2 1 4 9 |0.31 4
(B) 2 5 2 9 18 | 0.33
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S PN AR vy e A ERALEE e |l we | @ JIEAT
1 1 2 3 7 5 |0.58
Y B
e 9 4 6 14 | 11 |os6| °
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PN AL
o 4 3 2 6 15 | 10 |0.60]| 2
. i 2 2 2 3 9 | 3 o075
Tx—7 1
4 4 4 6 18| 7 o072
_ 1 2 1 2 6 | 6 [050]
3 4 9 5 14 | 13 | 052
\ 0 0 0 1 1 | 11 |0.08
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(EALAHT #_ WRNER | BE | Bk | M B
T AT T A e NEAT
s — AT | MIG | MIG | G
(AT 2 3 5 1083 |
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o 1 9 3 3 050
2 4 6 6 | 0.50
TN B 0 1 1 5 (017
AT 0 2 2 10 | 0.17
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